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( For Arts )

( Basic Statistics for Economics )

1. Answer the following as directed IXT=

oS frrTgRe ot S e i
(a) The geometric mean of o i is

1 8 ; :
— IF —F Qrres T4 A
32 25 !

) 1
1 =
@ G
by 1
i) ——
© 100
(iti) 10
(iv) 100

(Choose the correct answer)

(% Teqeo! qifR Sferer)

8A/218 ( Turn Over )



(2)

(b) If the minimum value in a series is 20
and its range is 47, the maximum value
of the series is

I @B oMY ey AR 20 F=F &5
47 =, (OC3 SICIACTN Twoy AT 7'

(i) 67
(i) 57
(iii) 48
(iv) None of the above

@[qq OIS =
(Choose the correct answer)

(wm Teach MR Sferey)

(c If ris the correla2tio.n coefficient, then
the quantity (1-7~) is called
I r TR BN W, (9@ AR (1-r2)
27
(i) coefficient of determination
AR g
(ii) coefficient of non-determination
SR B
(iii) coefficient of alienation
WS I
(iv) None of the above

8oFq OIS =T
(Choose the correct answer)

(% SCH! R Sferea)

8A/218 ( Continued )

(3)
(d) Show that
38T @
(GM)? = AM xHM
(e) What is scatter diagram?
o ef foq 15 9
1/ z=X5'” is called :
Z= % % QT |
(Fill in the blank)
(1T 31 7= F41)
(g9 Show that
ST &
E(CX) = CE (X)
where, C is constant.
T'® C 9ol 77 |
2. Answer the following questions : 2x4=8
OGS fr eppTRd T fors
(a) Prove correlation coefficient is

(b)

8A/218

Symmetric, i.e., I'yy = Tyx -

a9 I ODFE @A Jfe, e,

Txyslrx.

Define mathematical expectation.

affSs e e fia |

( Turn Over )



(©)

@

(4)

Assume that for two random variables X
and Y, the sample covariance

S X%t
n-1

is negative. In such a case, the two
regression coefficients would also be
negative. Why?

§q 2 @ Yol AGRS 5o X SIF Y9 ooy
REVH
ol s X)veT)
n-1
AT | G2 CFAS AR 2 GBS efrres
= | 592
State the conditions under which
() AM > GM > HM
(i) AM = GM = HM
& 8 Seoes
() AM > GM > HM
(i) AM = GM = HM

[ ?

3. Answer the following questions (any three) .

5X3=15

e PPRE e st (R cotett fofibm) -

(@)

8A/218

What are the requisites for an jdeg]
measure of central tendency?

o1 o (IR 299l ARNTR ey
b T 2 )

( Continued )

(b)

()

(@)

8A/218

(S)

Compute the 3rd quartile from the
following frequency distribution :

T IRFRS ReEma [l por opde a1
<*q0:

Class Interval Frequency
eI feree SIEIER]
0-10 4
10-20 9
20-30 14
3040 8
40-50 S

For two mutually exclusive events A and
B, show that

W AR JRge Wl A WE BI I
STl @

P(A+B)=P(A)+ P(B)- P(AB)

Given /¥l 22
No. of accidents No. of days
Rl S feg 130
0 46
1 ?
2 @
3 25
4 10
5 a4
Total = 200
If the mean is 146, calculate the

missing frequencies.

I Mg 1-46 =W, (93 (XA RIS AT
Lol

( Turn Over )



(e)

4. Answer the following questions :

(6)

(i) State the physical significance of
zero correlation.

X SR CSIfSF ATl Teay 1|

(i) What does r? signify?
r23 sl 2

(i) If two lines of regression are
y+2x=0 and 8y+x=0, find r.

M qOE EET @R y+2x=0 HF
8y+x =0, (o3 r Afq F1 |

10x3=30

o TR Ted ford

(@)

8A/218

Either /| 2¥

Define median and mean deviation.
Write any three advantages and
disadvantages of median and mean
deviation.

TR S Ay [oerwa & @01 eigemcg
fSfRG1 JfRan s Spgfaen fer | :

Or / 5241
The life of eighty condensers obtained in
a life testing experiment has been

presented below. For the distribution,

calculate () mean and (i) standard
deviation :

( Continued )

(7)

ﬁ@:mwaﬁs‘ww@maﬁ@wﬁﬁ
Rige 4R S AT T O OIfRPRAS (Il
x| 3 SRR CRT (i) Wy SR (i) AP
fRpere st 390

Year No. of condensers
=T Rge 41999 >R
0-1 3
1-2 9
2-3 2
34 8
4-5 11
56 13
6-7 12
7-8 8
89 9
9-10 5
(b) Either | 2
When is rank correlation used?
Calculate Spearman’s coefficient of rank
correlation from the following :
I ST N IRTR W ? Tere il O
o] TARCIE (I TR 37=e (AT 41
Rankof X & a1y 206800 S0Nes 7 4 6
X3 @Ifp
Rank of ¥ i , 58T 2T Nl 7, el S I ©)
Y3

8A/218

Or / 1

Find out the regression coefficients of Y
on X and X on Y on the basis of the
following data :

( Turn Over )



(8) (9)

woe il SAPTRY RS Y9 XTI e[e ( For Science )
X3 Y3 @[ fofe i Smpe | e fAefd
39 : ( Introduction to Econometrics )
= = 300 = .
giz -2-56%O§Y2Y2 & 1 02 O)é(})’ an’ilg?vo,— 10 5. Answer the following as directed : 1x7=7
3 weTS frapTRd el S T
(c) Either | (a) Distinguish between a parameter and a
What are meant by exhaustive, statistic.
mutually exclusive, independent events, BT 2iT5e S @Bl AforER Nee 18 o2 |
simple events and compound events in { L 1
probability? (b) The e_stlmator >X /n of population
mean is
e e, =R [Rafee, Foz <6, - s
; TR SR 2 X i
el Ko A (AT Wo e R 2 b

(i) unbiased estimator

Or / J%_I
&4 FoFoTese SN

State the binomial distribution law of

probability. Mention its properties. Find (1) consistentiERtEy

the binomial distribution having mean Aol AR
P e e (iii) Both (i) and (ii)
SfReR faem 9B SR B | RN e (i) ST (i) AT
Sy 91 | M qew 12 W€ PR 8 =W, (oo

e 951 oy 394 | (iv) Neither (i) nor (ij

(i) T (ii) 9018 =Y

(Choose the correct answer)

(R TSB! AR Sfers)
(c) What is meant by test of significance?
st R feree o @ 2
(d) Define coefficient of determination.
fefrers @ereea it el |

8A/218 ( Continued ) 8A/218 ( Turn Over )




(e)

(9

( 10)

Whether a test is one-tailed or

two-tailed depends on
@I @B R G- A R-IR GO

fgs 3

(i) null hypothesis
e a9 eoiq©

(i) alternative hypothesis
s 2sR 8o

(iii) simple hypothesis
eGP 8O

(iv) composite hypothesis

Ao 251 S7[©
(Choose the correct answer)

Mention any two uses of the t-test
statistic. .

t-oRrrere dferfed f GRIC 701 19T Tray
I

Write two measures of ‘goodness of fit’,

<ol RT3 751 AR B |

6. Answer any four of the following questions :

2X4=8

o R @Ic oIfRG! 2 Teq fordr

(a)

8A/218

Under standard assumptions of a linear
regression model, what properties do
the OLS estimators possess?
B R TREE WY TRE  wfeqme
e OLS F{RFT @FWER @Bk wrf
PCI?

( Continued )

(b)

(c)

@)

(e)

8A/218

(11

Distinguish between point estimation
and interval estimation.

R st e Rl st T =A<y fora |
Write any two properties of partial
correlation coefficient.

PR T @] R @l 1ol &EE
foran o

Name the problems that arise in the
estimation of a linear regression model,
when the assumptions of E (u,-2) =82 and

E(u;u;)=0 are violated.

@& SfSqRen E u?) = 8% W< E (u;u;) =0
TEE 9 T, (ART TR A TS TeI
@R AR AW {1370 1

You are given :

Mean Standard deviation
Brand A 16000 km 2000 km
Brand B 20000 km 4000 km

Assuming normal distribution, indicate
what percentage of Brand B might be
expected to run more than 24000 km.

come Al (xR

147 g7 [5er
@s A 16000 f¥. 1. 2000 f3. .
@9 B 20000 f&. . 4000 . .

oy IS 4Rt oiyed &, &% B
04000 f.AwE W@ RFa o AfEie

(I3 1T |
( Turn Over )




(12)

(/) Let X be a normal random variable with
mean 10 and standard deviation 4.
Determine the probability of
P(12< X <15).

91 2 X <51 230 A0S Boe TN Wiy 10

E I [oe 4. P(12 < X <158 S8R
e ¥4 1

7. Answer any three of the following questions :
5x3=15
e R e fofet 29 Ted o

(a) What are the characteristics of a good
estimator? Explain clearly.

9B TEE SRR AREPTR 0 sfRigEee
I F 1

() What do you mean by parameters of a
distribution? What are the parameters
of binomial, Poisson and normal
distribution?

91 959 2iroe fercat e o 2 fRem A%, sfHoe
G S LA I AT < 2

() Mention the various steps associated
with tests of significance.

MefFel AR e GTS ACHPHR TCES
Sl

(d) Explain statistical and deterministic
relation with suitable example.

oRe Treges REe PR Wi Hate
SR I 0

8A/218 ( Continued )

(e)

8. Answer the following questions :

(13 )

In the context of hypothesis testing,
explain briefly the terms null
hypothesis, alternative hypothesis and
level of significance.

S8 YRR Tee, (e o497, [T 999 u
sTfFeR B AT F41 |

were fRal 2rPTYR Ted for

(@)

8A/218

Either | ¥
Show that (i) the mean of the binomia]l
distribution is np and (ii) the variance of
the binomial distribution is npg, where n,
is number of trials, p is the probability
of success of an event and g is the
probability of its failure.

@4eq @ (i) faom 3% M np A (ii) Faoym
I%"T @RI npg, TS n =GB WA, p @y
W FOFHOR SRSl AF g TFSIfoR
SISl |

Or / 9<1

Describe how Poisson distribution
arises. The following ‘mistakes per page
were observed in a book :

No. of mistakes : 0 1 @ b RN
Frequency - 211 90 - 19 § 0

Fit a Poisson distribution to the datgy
and find the expected frequencies,

(Turn Oye, )

10x3=30



(b)

8A/218

(14 )

oy 957 @ T8I W, I T 4T
o oo P Rl $orHR See fra
BGE

$oq RI - 0) 1 2 3 4
I[¥EEe - 211 90 19 5 (0]

OPRA (A Ao A9 [T F1 WIE )
AISSIECRCEEESIN

Either | T
For a linear regression model
Y; = +BX; +U;, obtain the OLS
estimates of o and B and show that § is

the best linear unbiased estimate.

9o CIRF FAE ANFIT Y; = +BX; +U;T
@ OLS [f"E o =% B =T o9 o<
ST @ B HHRST S (FRF TS|
e |

Or / 341

What is the justification for introducing
the random disturbance term in a linear
regression model? What are the various
assumptions made about the
disturbance term in this model?

@R T wiife ke SRREFS oM
geHIse 3 Yfegeel W ? i wike SREES
*M3 Q3 4R e Rfew sfSyemyz ¢ <62

( Continued )

(©

8A—5000/218

(15 )

Either | &
Explain - the concepts of sampling
distribution and standard error of a
statistic. Write down the utility of
standard error.
oforf g% oI AIfAT A 4=l qO1 AR
91 | I 9ol ARETCO SecAtfareT & |

Or / S=[1

Define %2 and outline the features of its

distribution. Explain the concept of
degrees of freedom in this context.
Outline how the goodness of fit of a
theoretical distribution can be tested

with the help of %2 statistic.

IR I8 (x2)7 K= W W WR QEEETR
1 @3 opire FoFOR Wil USRI
M| F3 9 TC OGS IBAT ARG
QIO (AP (TS =, et fadl |

* %k %k
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